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2AM: HE D

HE: GEMES
©e WSS (29 a8)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& ot 2,723,264 1,806,652 916,612
A= as 532,373 483,335 49,038
NLHE &S 532,373 483,335 49,038
ANLAES 265,278 300, 199 A 34,921
101 @14 dl 12,060 8,928 3,132
4 D12t ZE2XREES 12,060 8,928 3,132
OXNLHXEUALME HIDAZH LHZEA
48,2403 x 10«25 12,060
201 LBt 186,401 211,813 A25,412
01 At 22l 97,331 122,323 A24,992
OXZAMEA DXM X2 70,0003 »380% A 26,600
Oget==EH| 69,051
Oo=249=+¢ 1,680
KA &e 2 70,0003 12 +23| 1,680
02 =224l 89,070 89,490 AN 420
OXNENIRNN sE€2E2 84,726
OXYAM D=y SXE=H 4,344
202 O4dl 13,600 13,600 0
01 = LH 4 Hi 13,600 13,600 0
ONE2dE EsAR 40,0002 x10H « 16 6,400
O2A&F Kl 4,400
OXZN &8s & MM MREA
40,0003 »2H 352 2,800
203 YR =&l 3,000 3,000 0
03 AIHF=AH 2 =AH| 3,000 3,000 0
ONEHRAHZA 3,000
301 LBtE A= 3,000 3,000 0
09 AL HIZ &S 3,000 3,000 0
Od= MHAHCQ &0tS A A EIHE 4 HI 3,000
303 &3 6,000 6,000 0
01 L& = 6,000 6,000 0
OXZAN == 2= SHS Al 6,000
306 ¢ 2 4,207 3,910 297
01 &3 4,207 3,910 297
OXZgAN AFIIs2st 4,207
308 XXM SOIA 37,010 0 37,010
10 B2 SO 3AHH A 37,010 0 37,010
OXNE&A BESAIY AS | 37,010
e X2 AE = 60,352 42,972 17,380
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2AM: HE D

HE: GEMES
©e WSS (29 a8)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
202 Od4dl 6,200 3,000 3,200
01 = LHA YI 6,200 3,000 3,200
OM2=+=g Mg+ dHEE 4,200
O&x==g 22T & MA+g AZE 2,000
303 &= 4,000 1,000 3,000
01 Z& = 4,000 1,000 3,000
oM+ = 2= A Al 1,000
ONEE M=+ MEgN = L 3,000
308 XX EHHSOIA 26,750 0 26,750
10 BN 2SUHUS3AEHH A 26,750 0 26,750
OM2==LEEAIAE X2l 24,050
OXNEANAS SEZACIAAE RAEAILE
= 2,700
405 XHoHF S HI 500 0 500
01 XY 2 ZF S| 500 0 500
Odl g3t ¢ 2 250,000 »2H 500
HE FEIFA T A 126,510 107,544 18,966
101 @124 dl 35,433 32,789 2,644
4 DIt ZE2XREES 35,433 32,789 2,644
OME =8It EL A 70,864 ,560& *50% 35,433
201 Let24d] 91,077 74,755 16,322
01 At 22/l 91,077 74,035 17,042
ONg =it 522 (1.1/6.1J1F)
137,682,800& *50% 68,842
OFYSHINES 4257
10,000, 000& *50% 5,000
OZ2H 28X & 237 7,300,000& *50% 3,650
OMEFEIY &F 2BEN BX2Y
1,600,000& *50% 800
OMNE =LA AL &=L 20T &
6,720,000 *50% 3,360
ORSH BIIPIHS 294g
2,800,000 *50% 1,400
OMNEFEDA AR HISHI
200, 0003 15 «50% 1,500
O= 2l 6,300,000 x50% 3,150
OMNgE= 85 T2 RIS
150,000 122 x50% 900
OMEFEUINAXTA AIRA HBHI(SER)
1,650 204 *1502 *50% 2,475
3| HI TH &t 2k e| 1,986,500 1,126,025 860,475
T &F2te| 1,881,712 1,042,363 839,349




2AM: HE D
2 ST At2e

SRl : THAHZ 2| (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
=Z2F MA22| 21,592 19,392 2,200

101 @121l 14,472 13,392 1,080
04 J|I2ZtH2E2XNEE S 14,472 13,392 1,080
OSFMA AEHEAI §RE=X
48,2403 *3H x100 14,472
201 LBEt2 Y| 1,120 0 1,120
01 At 22l Yl 1,120 0 1,120
OSFMA Ao2AAT 70,000 x8H x23] 1,120
301 dEtEAZ 6,000 6,000 0
09 HALAHIEA = 6,000 6,000 0
O2FIAMSUHIAINEEIIIE A 6,000
SSE A2 1,510,120 1,022,971 487,149
101 @121l 2,422 2,422 0
04 JI2ZtHI 22 XNEE % 2,422 2,422 0
OJI2ZtM 22X s B 2,422
ANEBANS SSEAMN HZEY
60,540& x4H x4 3] 969
ANBAMNS SSEAN =F 22|
60,540& x6H x4 3] 1,453
201 L2 Y| 654,698 657,549 N2,851
02 35294l 654,698 657,549 N2,851
O332=2 2 HA 479,698
A& A A MOH= 2 H| 122,558
Mot E AIESE 42,840
- Al HAL 23,000
- AT AIHAANE 16,450
- 2)AIE A 650
- )3 HA 2,740
HA MRS 292,600
- Al EHA 267,000
- P)EEA 18,000
- )23 & A 7,600
INE=PNU | 3,300
SFME R 2 6,840
- s Xt 840
-4 6,000
HAHE AL D ELES 1,000
ANEX EE2 10,560
OAE&Hl |l 120,000
O Xk 55,000
206 M = Hl 13,000 13,000 0




2AM: HE D
2 ST At2e
el THarze]

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 M= 4l 13,000 13,000 0
OMZHl 13,000
A2t JIHANEZES MY
2,000,000& 14! 2,000
A2 AY Y AFALES AN
4,000,000& =14 4,000
A2 A2H4EIIEE L JIEAH 2
7,000,000 » 14! 7,000
401 Al HIZ 201 8] 805,000 350,000 455,000
01 A& HI 803,920 347,840 456,080
O&AM=& L E==3 At 150,000,000& *99.28% 148,920
OAZEAL Wt 23 CSHia 22 Wil
215,000,000 =14 215,000
OAMEBEA SFEEA AZAIE HHIZA
30,000,000& =14 30,000
OAEAb X & EE 2Hl 10,000,000 14! 10,000
OBMU =& & =XE HHISA
300,000,000 » 14l 300,000
OFAL ALR A & Hdl Mteld &X
100,000, 000& 14! 100,000
03 A& =2 THHI 1,080 2,160 A 1,080
O&AM=& L E=3 At 150,000,000& *0.72% 1,080
405 Xt&tE SHI 35,000 0 35,000
01 AR ESFH S 35,000 0 35,000
OYLZAE MBXY UH 7L
35,000,000 =1CH 35,000
EMNE= 350,000 0 350,000
401 AIEHI L 20 350,000 0 350,000
01 A& HI 347,480 0 347,480
OHAHSSE) B85 350,000,000& *99.28% 347,480
03 AlE 2 THHI 2,520 0 2,520
OBM(2E) &85 350,000,000& *0.72% 2,520
3 A 2el 104,788 83,662 21,126
A2 104,788 83,662 21,126
101 124 dl 14,472 16,072 A 1,600
04 JI2ZHHZ2XREES 14,472 16,072 A 1,600
OXotzel T2y eiwx
48,2403 x 150 «1H 7,236
OHMZ0latslH 2 dREX
48,2403 x 150 «1H 7,236
201 ¢et24] 63,870 67,140 A3,270
01 At 2t 2l 42,470 45,740 N 3,270




2AM: HE D
2 ST At2e

& A2 (9 ® =)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
SEEFEEEEIEEEE]
100, 000& x10H x73] 7,000
OZ4LEAN 292 100, 000& x5 x20 10,000
OO0l A2 H Z 8N 2t 30,000& x2& 1205 7,200
OMEEININ &4 15,820
a4 U AESZ 7,160,000& *23| 14,320
MREOAN &2t 12,500& *120% 1,500
ONE0ola 2EES S SHl 7,0008 x7H 50 2,450
02 352494l 21,400 21,400 0
OAHseE2)H RAE24L 550,000 128 6,600
OGHAHE AL THAH OHHAIAE RXE
400,000& 12& 4,800
OHUYEBZIMAAEY SKANES
50,000,000& *10% 5,000
OSZ 22 (RFID A XA AIAE I8
50,000,000& *10% 5,000
301 dEtEAZ 450 450 0
09 HALAHIBEA = 450 450 0
OZAEANRE DL 90,000& x5H 13| 450
405 XtabF SHI 25,996 0 25,996
01 AL 2B F SHI 25,996 0 25,996
SHOIA Bl &E D] 3,500,000& = 1CH 3,500
O0rayle 2t BH=D| 2,600,000& =1CH 2,600
OFXE O (eher) 300& %65, 000K 19,500
Ocle IIECX 99,000& =44 396
HMSHAY (HE D) 152,891 144,292 8,599
Ol SHY|(HE D) 91,771 83,172 8,599
ol 2A | 91,771 83,172 8,599
101 @124 91,771 83,172 8,599
03 I HLZ2ZZHE S 91,771 83,172 8,599
OYLEX(XNYM2YE, AESXZAHY) 91,771
CJlEs 1,260,270& *3¥ ~12& 45,370
a2 1,260,270& x400%*3H 15,124
ME==3- N 120,000 *3YG »12& 4,320
HHZAH| 130,000& *3H x12& 4,680
NEEELRE
9,894 x15A| 2t*1 5H 128 «»3H 8,015
HESIHI(E,5=4)
1,260,270& *3% *120% 4,537
O AbH| 9,894 & *8A| 2b* 10 »3H 2,375
254 412,500& 12& 4,950




S HED
M HH2IZH(HE )
el o2 (WD) (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
IFEL (S, 221, HET)
80,0008 x 12 960
tHere sl 40,0003 x 123 x3YH 1,440
Jl2ZH (&) 61,120 61,120 0
Jl2dy(HE ) 61,120 61,120 0
201 LBt2d| 8,000 8,000 0
01 At 22l 8,000 8,000 0
Oz &l 8,000
202 44l 48,200 48,200 0
01 = LH o4 1l 48,200 48,200 0
OMZBL HRF=A 48,200
203 YR =&l 4,920 4,920 0
04 REN2ELRZ=LH 4,920 4,920 0
ORMSIYRFLH 4,920
Heass(HMEn) 51,500 53,000 A 1,500
SEIES(MHE M) 51,500 53,000 A 1,500
SBENE(HE L) 51,500 53,000 A 1,500
311 X+ S0l At &f & 1,500 3,000 A 1,500
05 JIEFXHS 3 O RH&f & 1,500 3,000 A 1,500
OSsEA &= 1,500
601 XL SJAS&e 50,000 50,000 0
05 JIEI= Xt S 3 & E 50,000 50,000 0
O2s3A &= 500,000,000& *1/10 50,000




